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* Information required (Introduction or Background) (87F)
* Question (|a)gR)
* Two statements labeled (1) and (2) (&14)

* Option (3EIN)
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Tom and Jack are in a line to purchase tickets. (8F)

How many people are in the line? (a]3R)

(1) There are 20 people behind Tom and 20 people in front of Jack.

(2) There are 5 people between Tom and Jack. (£14)
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(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.
(C) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
(D) EACH statement ALONE is sufficient.

(E) Statement (1) and (2) TOGETHER are NOT sufficient. ([EE)EIN)
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CRFS: BEEREM x=: V7, |x|<I EHINTSEL

Statement.



What is the value of x ?

(1)3x=6 B—2, %5

@ xi=4 T—, %9

(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(C) BOTH statements TOGETHER are sufficient, but NEITHER statement
ALONE is sufficient.

(D) EACH statement ALONE is sufficient.
(E) Statement (1) and (2) TOGETHER are NOT sufficient.
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Tom and Jack are in a line to purchase tickets. How many people are in the line?

(1) There are 20 people behind Tom and 20 people in front of Jack.

(2) There are 5 people between Tom and Jack.

(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(C) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

(D) EACH statement ALONE is sufficient.
(E) Statement (1) and (2) TOGETHER are NOT sufficient.
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ZYes, but...”5Z& " No, but...” AJStatement.



Is x equal to | ?

(1)x2=1 BIEMA, R7D

(2) x2=4 .—H/\z—E, 3:5

(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(C) BOTH statements TOGETHER are sufficient, but NEITHER statement
ALONE is sufficient.

(D) EACH statement ALONE is sufficient.
(E) Statement (1) and (2) TOGETHER are NOT sufficient.
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* There are eight balls in the pocket. (F2F)

* Question |:Are all the balls in the pocket red? (&RFRFTHEBERERZLL

‘g2 )
-RD: UYES”: FRERERIEHN

- "NO™ BEfA—HKEETHEN

* Question 2:Are there any red balls in the pocket? (SFHELEAIRIERNS? )
-Re: "YES”: BEE—IKELEH
-7 "NO™: FiEIKETZIEN



* There are eight balls in the pocket. (8n )

* Question |:Are all the balls in the pocket red?

* Question 2:Are there any red balls in the pocket?
- Statement |:Three balls are removed; whose colors are brown, green, and red, respectively.
- Statement 2: Three balls are removed; whose colors are brown, green, and yellow, respectively.

- Statement 3:Three balls are removed; whose colors are red, red, and red, respectively.

Question 1 Question 2
Statement 1

Statement 2

Statement 3
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Each person on a committee with 40 members voted for exactly one of 3
candidates, F, G, or H. Did Candidate F receive the most votes from
the 40 votes cast?

(1) Candidate F received || of the votes.
(2) Candidate H received |4 of the votes.

(A) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

(B) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(C) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.
(D) EACH statement ALONE is sufficient.

(E) Statement (1) and (2) TOGETHER are NOT sufficient.
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